Chapter 12 STATA Output
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1c. If one wants standardized coefficients, you must enter “beta” after the comma. 
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. pwcorr BurglaryRt tobaccodeathrt, sig
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         _cons    -113.0549   203.6488    -0.56   0.581                        .

tobaccodeathrt     2.978086    .744319     4.00   0.000                  .500102

                                                                                

    BurglaryRt        Coef.   Std. Err.      t    P>|t|                     Beta

                                                                                

       Total     3196106.5        49  65226.6632   Root MSE        =    223.46

                                                   Adj R-squared   =    0.2345

    Residual    2396753.72        48  49932.3693   R-squared       =    0.2501

       Model    799352.773         1  799352.773   Prob > F        =    0.0002

                                                   F(1, 48)        =     16.01

      Source         SS           df       MS      Number of obs   =        50

. regress BurglaryRt tobaccodeathrt, beta
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        _cons    -120.7066   119.0168    -1.01   0.316                        .

perindpoverty     59.03797   8.443198     6.99   0.000                 .7103586

                                                                               

   BurglaryRt        Coef.   Std. Err.      t    P>|t|                     Beta

                                                                               

       Total     3196106.5        49  65226.6632   Root MSE        =    181.62

                                                   Adj R-squared   =    0.4943

    Residual     1583321.1        48  32985.8563   R-squared       =    0.5046

       Model     1612785.4         1   1612785.4   Prob > F        =    0.0000

                                                   F(1, 48)        =     48.89

      Source         SS           df       MS      Number of obs   =        50

. regress BurglaryRt perindpoverty, beta
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. scatter (yhat2 BurglaryRt perindpoverty)

(option xb assumed; fitted values)

. predict yhat2


